# Generalization of Fuglede-Putnam Theorem to (p, q)-Quasiposinormal Operator and (p, q)- Co-posinormal Operator

Mahmood Kamil Shihab

Department Of Mathematics , College Of Science , Diyala University , Diyala , Iraq Email: <u>mahmoodkamil72@sciences.uodiyala.edu.iq</u>

### Abstract

In this paper we generalize the Fuglede-Putnam theorem to non-normal operators to posinormal operator and co-posinormal operators. Also we prove this theorem to supra class posinormal operators (called supraposinormal operator) and co-supra class posinormal operators (called cosupraposinormal operator). **Keywords:** Fuglede-Putnam Theorem, posinormal operator, positive operator.

#### Introduction

In this paper we give positive answer to the question that appeared in [1].

Let H be a separable complex Hilbert space and B(H),  $S_1$ , and  $S_2$  denote the algebra of all bounded linear operators acting on H, the Hilbert-Schmidt class and the trace class in B(H) respectively. It is well known that  $S_1$  is itself a Hilbert space with the inner product

$$\langle x, y \rangle = \sum \langle xe_i, ye_i \rangle = Tr(Y^*X)$$
  
=  $Tr(XY^*)$ 

where  $e_i$  is any orthonormal basis of H and Tr(.) is the natural trace on  $S_2(H)$  [2]. The Hilbert-Schmidt norm of  $X \in S_1$  is given by  $||X||_2 = \langle X, X \rangle^{1/2}$ . Berberian [3] relaxes the hypothesis on A and B by assuming A and B<sup>\*</sup>

hyponormal operators and X to be Hilbert-Schmidt class. An operator  $T \in B(H)$  is normal if  $TT^* = T^*T$ , positive,  $T \ge 0$ , if  $\langle T_x, x \rangle \ge 0$  for all  $x \in H$ , posinormal if there exists a positive operator  $P \in$ B(H) such that  $TT^* = T^*PT$ . Here, *P* is called an interrupter of *T*, and co-posinormal if  $T^*$  is posinormal i.e  $T^*T = TPT^*$ . From [4, Theorem 2.1], we know that *T* is posinormal if and only if  $c^2T^*T - TT^* \ge 0$  for some c > 0. Let *p* be 0 . An $operator <math>T \in B(H)$  is said to be *p*-hyponormal if  $(TT^*)^p \le (T^*T)^p$ ,

and p-posinormal if  $(TT^*)^p \leq c^2 (T^*T)^p$ , for some c > 0. It is clear that 1-hyponormal and 1-posinormal are hyponormal and posinormal, respectively.

**Definition 1.** For a positive integer k and a positive number 0 , an operator T is said to be <math>(p, k)-quasiposinormal if

$$(T^*)^k (c^2 (T^*T)^p - (TT^*)^p) T^k \ge 0$$
  
for some  $c > 0$  [5].

# **The Main Results**

#### The Posinormal Operator Case

The basic elementary operator  $M_{A,B}$  induced by the operators *A* and *B* is defined on  $S_1(H)$  by  $M_{A,B}(X) = AXB$ , and the adjoint of  $M_{A,B}$  is given by the formula  $M_{A,B}^*(X) = A^*XB^*$  [3].

The familiar Fuglede-Putnam Theorem is as follows [6, Theorem 6.7] and [7, Theorem 12.16]):

**Theorem 1.** If A and B are normal operators and if X is an operator such that AX = XB, then  $A*X = XB^*$ .

**Proposition 1.** Let  $A, B \in B(H)$ . If  $A \ge 0$  and  $B \ge 0$ , then  $M_{AB} \ge 0$ .

Proof: Let 
$$X \in S_1(H)$$
,  
 $< M_{A,B}X, X > = Tr(AXBX^*)$   
 $= Tr(A^{1/2}XBX^*A^{1/2})$   
 $= Tr((A^{1/2}XB^{1/2})(B^{1/2}X^*A^{1/2}))$   
 $= Tr((A^{1/2}XB^{1/2})(A^{1/2}XB^{1/2})^*) > 0.$ 

Indeed,  $M_{A,B}^{1/2}(X) = A^{1/2}XB^{1/2}$ .

**Proposition 2.** If A and  $B^* \in B(H)$ , A is a (p,q)quasiposinormal operator and  $B^*$  is a posinormal operators then  $M_{A,B}$  is a positive operator.

**Proof**: Let  $X \in S_1(H)$ , since  $B^*$  is posinormal operator, then there exists a positive number c such that  $c^2A^*A - AA^* \ge 0$ , and we must show that  $c^2M^*_{A,B}M_{A,B} - M_{A,B}M^*_{A,B} \ge 0$  Indeed, the formula  $c^2M^*_{A,B}M_{A,B} - M_{A,B}M^*_{A,B} = c^2A^*AXBB^* - AA^*XB^*B$ =  $c^2A^*AXBB^* - AA^*XB^*B + c^2AA^*XBB^* - c^2AA^*XBB$ 

 $=c^{2}(A*A - AA*)XBB* + AA*X(c^{2}BB* - B*B)$ shows that  $c^{2}M_{A,B}^{*}M_{A,B} - M_{A,B}M_{A,B}^{*}$  is the sum of two positive operators. Hence  $M_{A,B}$  is posinormal.

**Lemma 1.** If A is an invertible posinormal operator, then  $A^{-1}$  is posinormal operator.

**Proof** : Since A is posinormal, then for some c > 0 we have

$$c^{2}A^{*}A - AA^{*} \ge 0$$
  

$$c^{2}A^{*}A \ge AA^{*}$$
  

$$A^{-1}(c^{2}A^{*}A)(A^{*})^{-1} \ge A^{-1}AA^{*}(A^{*})^{-1}$$
  

$$A^{-1}(c^{2}A^{*}A)(A^{*})^{-1} \ge I$$

Taking inverses gives

$$A^* \left(\frac{1}{c^2} A^{-1} (A^*)^{-1}\right) A \le I$$
$$\frac{1}{c^2} A^{-1} (A^*)^{-1} \le (A^*)^{-1} A^{-1}$$
$$c^2 (A^*)^{-1} A^{-1} \ge A^{-1} (A^*)^{-1}$$

This means that  $A^{-1}$  is posinormal.

The following theorem with proof can be found in [5, Theorem 2.5]

**Theorem 2.** Let T be a (p, q)-quasiposinormal operator. Then

$$T = \begin{bmatrix} T_1 & T_2 \\ 0 & T_3 \end{bmatrix}$$

on  $H = \overline{ran(T^k)} + ker(T^{*k})$ , where  $T_1$  is pposinormal operator and  $T_3^k = 0$ . Lemma 2. Let T be a (p, q)-quasiposinormal operator on a Hilbert space H. If  $\lambda \in \mathbb{C}, x \in H$  and  $Tx = \lambda x$ , then  $T^*x = \overline{\lambda}x$ .

**Proof**: If x = 0 then the proof is obvious. If  $x \neq 0$ , let  $H_0$  be a span of  $\{x\}$ . Then  $H_0$  is an invariant subspace of T and

$$T = \begin{bmatrix} T_1 & T_2 \\ 0 & T_3 \end{bmatrix}$$

on  $H = H_0 + H_0^{\perp}$ .

Let Q be the orthogonal projection of H onto  $H_0$ . Then  $T_1 = TQ$  and  $T_1^* = QT^*$ , so

 $T_1 = \lambda$  and  $(T_1^*T_1)^p = (QT^*TQ|_{H_0})^p = (QT^*TQ)^p|_{H_0}$  $\geq Q(T^*T)^p Q|_{H_0}$ 

by Hansen's inequality [7]. On the other hand  $(T_1T_1^*)^p = (TQT^*|_{H_0})^p = (TQT^*)^p|_{H_0}$  $\leq Q(TT^*)^p Q|_{H_0}$ 

by Lowner-Heinz's inequality [9, 10]. Hence

$$\begin{bmatrix} (T_1^*T_1)^p & 0\\ 0 & 0 \end{bmatrix} \ge Q(TT^*)^p Q \ge Q(T^*T)^p Q \\ \ge \begin{bmatrix} (T_1T_1^*)^p & 0\\ 0 & 0 \end{bmatrix}$$

Hence

Let

$$(TT^*)^p = \begin{bmatrix} |\lambda|^{2p} & A\\ A & B \end{bmatrix} .$$
$$(TT^*)^{\frac{p}{2}} = \begin{bmatrix} X & Y\\ U^* & T \end{bmatrix} .$$

$$(TT^*)^{\frac{L}{2}} = \begin{bmatrix} X & T \\ Y^* & Z \end{bmatrix}$$

Then

$$\begin{bmatrix} X & 0\\ 0 & 0 \end{bmatrix} = Q(TT^*)^{\frac{p}{2}}Q \ge Q(TQT^*)^{\frac{p}{2}}Q \\ = \begin{bmatrix} |\lambda|^p & 0\\ 0 & 0 \end{bmatrix}.$$

Hence

 $X \geq |\lambda|^p$ .

Since  

$$(TT^*)^p = \begin{bmatrix} X & Y \\ Y^* & Z \end{bmatrix} \begin{bmatrix} X & Y \\ Y^* & Z \end{bmatrix}$$

$$= \begin{bmatrix} X^2 + YY^* & XY + YZ \\ Y^*X + ZY^* & Y^*Y + Z^2 \end{bmatrix}$$

We have

$$X^2 + YY^* = |\lambda|^{2p}$$

And

$$|\lambda|^p = \sqrt{X^2 + YY^*} \ge X \ge |\lambda|^p.$$

Hence Y=0. Hence

$$(TT^*)^{\frac{p}{2}} = \begin{bmatrix} |\lambda|^p & 0\\ 0 & Z \end{bmatrix} and \quad TT^* = \begin{bmatrix} |\lambda|^2 & 0\\ 0 & Z^{\frac{p}{2}} \end{bmatrix}.$$

On the other hand we have

 $TT^* = \begin{bmatrix} T_1 & T_2 \\ 0 & T_3 \end{bmatrix} \begin{bmatrix} T_1^* & 0 \\ T_2^* & T_3^* \end{bmatrix} = \begin{bmatrix} |\lambda|^2 + T_2 T_2^* \\ T_3 T_2^* \end{bmatrix}$ Hence  $T_2 = 0$ . Thus

$$T^*X = \begin{bmatrix} \overline{\lambda} & 0 \\ 0 & T_3 \end{bmatrix}_0^X = \overline{\lambda}X.$$

The first generalization of Fuglede-Putnam Theorem is as follows:

**Theorem 3.** If  $A \in B(H)$  is (p, k)-quasiposinormal operator and  $B \in B(H)$  is invertible and coposinormal operator such that AX = XB, for some X  $\in S_1$ , then  $A^*X = XB^*$ .

**Proof:** Let AX = BX for some  $X \in S_1$ , then

М

$$A_{A,B}^{-1}(X) = AXB$$
$$= XBB^{-1}$$
$$= X.$$

Since *B* is invertible and co-posinormal operator, that is  $B^*$  is invertible and posinorml operator, so  $(B^*)^{-1}$ is posinormal by Lemma 1. Also  $M_{A,B^{-1}}$  is posinormal operator by Proposition 2. Hence  $M_{AB^{-1}}^* = X$  by Lemma 2, and so

$$A^*X(B^*)^{-1} = X$$

that is

#### $A^*X = X B^*.$ The Supraposinormal Operator Case

**Definition 2.** (1)An operator  $T \in B(H)$  is said to be supraposinormal if there exist two positive operators  $U\&V \in B(H)$  such that

$$TVT^* = T^*UT$$

where at least one of the U and V has dense range in H. It will sometimes be convenient to refer to the ordered pair (U, V) as an interrupter pair associated with T.

(2)For a positive integer k and a positive number 0 < $p \leq 1$ , An operator T is said to be (p, k)quasisupraposinormal if

$$(T^*)^k ((TVT^*)^p = (T^*UT)^p)T^k.$$

The following theorem with proof can be found in [11, Theorem 4.6.7]

**Theorem 4.** If A is an invertible positive operator, then its inverse  $A^{-1}$  is positive.

**Proposition 3.** If T is an invertible supraposinormal with invertible interrupter (U, V), then it's inverse  $T^{-1}$  is also supraposinormal.

**Proof:** Since T is supraposinormal

$$TV T^* = T^*UT$$

$$(T^*)^{-1}TVT^*T^{-1} = (T^*)^{-1}T^*UTT^{-1} (T^*)^{-1}TVT^*T^{-1} = U$$

Take inverses

$$T(T^*)^{-1}V^{-1}T^{-1}T^* = U^{-1}$$
  
(T\*)^{-1}V^{-1}T^{-1} = T^{-1}U^{-1}(T^\*)^{-1}

by Theorem 4  $U^{-1}$  and  $V^{-1}$  are positive, so  $T^{-1}$  is a supraposinormal.

**Proposition 4.** If  $A \in B(H)$  is (p, k)quasisupraposinormal operator and  $B^* \in B(H)$  is a supraposinormal operators then  $M_{A,B}$ is supraposinormal operator.

**Proof**: Since A and B are supraposinormal

 $M_{A,B} V M_{A,B}^* = AVA^*XB^*VB$ 

A\*UAXBUB'  $= M_{A,B}^* U M_{A,B}.$ 

**Theorem 5.** Let T be a (p, q)-quasisupraposinormal operator. Then

$$T = \begin{bmatrix} T_1 & T_2 \\ 0 & T_1 \end{bmatrix}$$

On  $H = \overline{ran(T^k)} + \ker(T^{*k})$ , where  $T_1$  is psupraposinormal operator and  $T_3^k = 0$ .

**Proof:** Consider the decomposition  $H = \overline{ran(T^k)} + \ker(T^{*k})$ , since  $\overline{ran(T^k)}$  is an invariant subspace of T, T has the matrix representation

$$T = \begin{bmatrix} T_1 & T_2 \\ 0 & T_1 \end{bmatrix}$$

with respect to  $H = \overline{ran(T^k)} + \ker(T^{*k})$  Let Q be the orthogonal projection on  $\overline{ran(T^k)}$ . Then  $T_1 = TQ$  and  $T^* = QT^*$ , because of

$$(T^*)^k (TVT^*)^p = (T^*UT)^p T^k$$

Lowner-Heinz's inequality [9, 10], and Hansen's inequality we have

$$(T_1VT_1^*)^p = (TQVQT^*)^p \le Q(TVT^*)^p Q$$
  
=  $Q(T^*UT)^p Q \le (QT^*UTQ)^p$   
=  $(T_1^*UT_1)^p \dots (1)$   
 $(T_1^*UT_1)^p = (QT^*UTQ)^p \le Q(T^*UT)^p Q$   
=  $Q(TVT^*)^p Q \le (TQVQT^*)^p$   
=  $(T_1VT_1^*)^p \dots (2)$ 

From (1) and (2) we see that T1 is *p*-supraposinormal on  $\overline{ran(T^k)}$ .

## References

[1] Hichem M. Mortad: Yet More Versions of The Fuglede-Putnam Theorem, Glasgow Mathematical Journal Trust (2009) 473-480.

[2] Dixmier J: Les Algebres d'operateurs dans L'espace Hilberien (Algebres de Von Neumann, Gauthier Villars, Paris. MR 20, 1234. Second Edition (1969).

[3] S. K. Berberian: *Extensions of theorem of Fuglede and Putnam*, Proc. Amer. Math. Soc. 71 (1978) No. 1, 113-114.

[4] H. C. Rhaly Jr.: *Posinormal Operators*, J. Math. Soc. Japan 46 (4) (1994) 587-605.

[5] Mi Young Lee and Sang Hun Lee: On (p, k)-Quasiposinormal Operators, J. Appl. Math. & Computing Vol. 19 (2005) No. 1-2, 573 - 578. Let  $x = x_1 + x_2$  and  $y = y_1 + y_2$  in  $H = \overline{ran(T^k)} + ker(T^{*k})$ . Then

$$(T_3^*x_2, y_2) = (T^k(I-Q)x, (I-Q)y) = 0$$
  
for all x,  $y \in H$ . Thus  $T_3^k = 0$ .

**Lemma 3.** Let T be a (p, q)-quasisupraposinormal operator on a Hilbert space H. If  $\lambda \in \mathbb{C}$ ,  $x \in H$  and  $T_x = \lambda x$ , then  $T^*x = \overline{\lambda}x$ .

Proof of this Lemma is similar to the proof of Lemma 2.

The second generalization of Fuglede-Putnam Theorem is as follows:

**Theorem 6.** If  $A \in B(H)$  is (p, k)quasisupraposinormal operator and  $B \in B(H)$  is invertible with invertible interrupters (U,V) and supraposinormal operator such that AX = XB, for some  $X \in S1$ , then A\*X = XB\*.

Proof of this Theorem is similar to the proof of Theorem 3.

[6] John B. Conway: *A course in Functional Analysis*, McGraw Hill New yourk (1991) (2nd edition).

[7] W. Rudin: *Functional Analysis*, Springer-Verlag, New York (1990) (2nd edition).

[8] F. Hansen : *An Operator Inequality*, Math. Ann. 246 (1980) 249-250.

[9] E. Heinz: Beitr䣷ge zur St䣷rungstheorie der Spektralzerlegung, Math. Ann. 123 (1951) 415-438.

[10] K. Lowner: *uber monotone Matrixfunktionen*, Math. Z. 38 (1934) 177-216.

[11] Loenath Debnath and Piotr Mikusinski: Introduction to Hilbert Spaces with Applications, Elsevier Academic Press (2005) (3rd edition).

# تعميم مبرهنة فاكليد – بوتنام الى (p,q) مؤثر شبه طبيعيي ايجابي و (p,q) معكوس مؤثر طبيعي ايجابي

•••••

محمود كامل شهاب

قسم الرياضيات ، كلية العلوم ، جامعة ديالي ، ديالي ، العراق Email: <u>mahmoodkamil72@sciences.uodiyala.edu.iq</u>

#### الملخص

في هذا البحث العلمي، عممنا مبرهنة فاكليد – بوتنام الى المؤثرات غير العادية عممناها الى مؤثرات شبه طبيعي ايجابي و معكوس مؤثر طبيعي ايجابي. وكذلك عممنا هذه المبرهنة الى مؤثرات سوبر كلاس شبه طبيعي ايجابي ومعكوس مؤثر سوبر كلاس طبيعي ايجابي. **الكلمات المفتاحية:** مبرهنة فاكليد – بوتنام، مؤثر طبيعي، مؤثر طبيعي ايجابي